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1. Please correetly fill your Roil Number in O.M.R. Sheet.

Candidate will themseif be responstble for fitling wrong
Roll No.

2. At the start of the examination before attempting the
question paper kindly check your test booklet and OMR
Answer Sheet and ensure that ;

s  The setial numbers of test booklet and OMR answer sheet
are same.

-# All pages of test bonklet and OMR answer sheet are
propetly printed. All questions from S. No. 1 to last 8. No.
150 are printed and pages from S. No. 1tolastS. No. 24 are
there in the question booklet.

In case of any discrepancy / defect the candidate should

immediately report the matter to the invigilator for replacement

of test booklet and OMR answer sheet. No claim / objection in
this regard will be entertained after five minutes of start of
examination. Candidase will be Eable for it :

3. Answer all questions.

4. All questions carry equal marks,

5. Only oneanswer is to be given for each question. Ifmore than
ome answers are marked, it would be ireated as wrong answer.

6. 1/3 part of the mark(s} of each question will be

an incorrect answer or more than one answers for any
question. Leaving all the relévant circles or bubbles of any
question blank will not be considered as wrong answer.

7. Eech question has four alternative responscs marked serially
as (A), {B), (C), (D). You have to darken only one circle or
bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

8. Use of Mobile Phone/Blustooth Devices or any other
elecironic gadget in the examination hall is strictly prohibited.
If any such prokibited material found with any candidate,
strict action will be taken against him/her as per rule,

9, Ifthere is any sort of ambiguity/mistake ¢ithier of printing
or factual nature in Hindi and English Version of the question,
the English Version will be treated as standard,
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1.

* (A) Farrokh Jaffer

(D) anfern witeERn

R fed 9% g0 gEu Bewe S R

Who won the Best Actor in a Supportmg i 4.

Role (Female) Award in the Filmfare
Awards 2021 72 =

(B) = Taapsee Pannu
{C) Tillotama Shome
(D) Aalia Furniturewalla
fera-her guam 2021 ¥ frEY uEEw
ofieeT 3 45 e:fﬁﬁsﬁmguzmsﬁm ?
(A) BRIE TR
(B) wmEiwS
(C) T s

Which scheme has been launchcd by the
Reserve Bank of India for retail investors,
through which they can directly buy and
sell government securities (G- Secs), both

primary and secondary ?
(A) - RBI Retail Direct Scheme

{B) G-Secs on sale scheme
(C) RBI Invest
(B) None ofthese

=R @ @ g B 1w ey gw 3
wufaw wd fgdims d6f wer 6 gwwrd
wfengferdt (G- Secs) & WY wilig 3R A=
ghd g 7

(A) R.&).37, ﬁ%ammw

(B) -3% af7 dw whm :

() FRIAIE o=
(D) T & Tl

India’s first Geothermal Power Project
will be established in

- (A) Himachal Pradesh

|

|

|

!

(B) Ladakh |
(C) Jammu & Kashmir - ]
(D) None of these _ [
l

|

i

|

2

| o enfoe &) s
(A) Bmmmwm B) @

(C) WHUWEHHR (D) I Fd

'(C)ﬁam
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In Modi Govemment which of the
following is present  Union
information and Broadcast Minister ?
(A) Anurag Singh Thakur
(B) Narendra Singh Tomar

~ (C) Nirmala Sitharaman
(D) None of these

ﬁawﬁﬁnﬁ%ﬁqaﬁwﬂﬁﬁ
HE1 O AR W R 7

(A), 3T fig g
(B) T Rig AR

(©) Trden daru
(D) T AHE A

Who became the first IAS officer to win
Paralympic medal ?
(A) Sumit Antil
(B) Suhas Yathiraj
(C) Devendra Jhajharia
. (D) Krishna Nagar :
9 T iU, el W i

P ufefiye vew st 2

(A ghm e (B)_?j,zmaﬁmér o

(©) PR (D) FoW AR

Which city of India is renamed -as .'

“Narmadapuram” ?
(A) Bharuch
(C) Jabalpur
WRa % 5 e+ iﬂmgm gqqffha

(B) , Hoshangabad

e e 2
(A) w5 (B) BT
(€) “EaR (D) TEER

India s first Alr Taxi Services were
launched from

(A) Hyderabad (B) Chandigarh

(C) Kolkata (D) None of these
9@ Y v gar Rl dad Wl @ 4w
g oft 7 | | .

(A) TEUER (B) =g
(D) FHARETE

(D) Narsinghpur
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B 8 ¥

12.

India’s first indigenously developed
DNA plasmid vaccine is

(A} ZyCov-D (B) Covaxin

(C} Covishield (D) None ofthese
WRa # yum ot feRm dew
wnfRg fE R |
(A) TEHE-F (B) HEEEH

) FElice (D) FEEIETE

Who among the foliowing has been
written a new book titled, “Bullets Over
Bombay : Satya and the Hindi Film
Gangstet” ?

(A) Vishal Bhardwaj

(B) Gopal Verma

(C©) Anurag Kashyap

(D} Uday Bhatia

“qoed Sat s ; wen ws R R

foes freee” itk e 7 e ot o
o frat Rt 2 7

(Ay T smert (B) R

(C) FFMHET (D) I s
Which is first state to set up India’s First
Dugong Conservation Reserve ?

(A) Kerala (B) Odisha
(C) Tamil Nadu (D) None ofthese

- WA &1 YR T T T fad vt
T TR T U i W8 7

(A) I (B) 3ifewm

(€) dfterg M) g ad
'Bauxite is the ore of
(A) Iron (B)
(C) Silver (D) Mercury
AR 3T B

(A) whEH (B) TR
(©) =@t= (D) WY (IR) =
‘Which is known as laughing gas ?

8 wifst A9 (7w W) ¥ w9 ﬁ ST
TR 7
(A)y S0,
(¢ €O

Aluminium

B) NzO
(D) CH,
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13.

14.

15.

- {A) Coronary attack —

Where are lungs situated in human
body ? .

(A) Abdominal Cavity

(B) Buccal Cavity

(C)  Pericardial Cavity

(D) Thoracic Cavity :

e TR HRg e W e g‘lﬁ €7

A TEmwE @ WE
(C) wearaT Tar ®) & e

Which of the following is a perfect match ? -
Vascular dilation
(B) Atherosclerosis ~ Blockage of arteries
{C) Hypertension - Low blood pressure
(D) Hypotension ~— Heart attack
i A s R d 7

(A) SN REF  ~ Faah fFeeror

B) PR - gafEl i sy
(C) TR - Powew

(D) EEERNH -~ gEATEd

The part of yam that can be eaten, grows :

(A) On the surface of ground
(B} Underground

o (C) On the surface of water

16.

(D) None of these

s (Bmy = i fod @ o e R,
ELGIES

(A) R Eag®

(B) i % Iy

(C) wefrg vaE & FW

(D) T A T

The bread, cereals and pasta group is a
good source of

(A) VitaminC  (B) Calcium

. (€) - Carbohydrate (D) Fats

¥g, AT I I R W IS A ]
(A) TeRmc (B) Hfewm
(C) ®EEEgE (D) &



17. Which disease is caused by protein .

18.

19.

deficiency ?
(A) Kwashiorkor (B) Anemia
(C) Rickets . (D) Haemorthage
T E TN FFROBT TR ?
(A) FIRERST (B) whfan
C) Feem (D) T
Match the following :
. P R R
List-Xge# -1 List — IARR - IX
a. Tltutmish / 1. Daulatabad /
Tega Aetarar

b. Alauddin Khilji/ 2. Purana Qila/
Foae Raerslt g fen

¢. Mohammad-bin- 3. Qutub Minar /
Tughlaq/WEHE-  HFFHAT
@ g

d. Sher Shah Suri/ 4. Siri/dfift
e g |

Select the correct answer using the

codes given below :

e e % R wwd g
Codes/&He :
a b ¢ d
A 3 4 1 2
By 2 3 1 4
S (© 4 2 1 3
o1 2 3 4

Which of the following is the correct
chronological order of the visit of
travellers to India ?

YRE & IE FH TS 3 oaEE
mqﬁmﬁmﬁ%aﬁqm%?
a. - Thomas Roe/i."l'ﬁlﬁﬁ '

b Fa-hein / wTRI=

¢.  Hiuen Tsang / 3¥9m
(A) ab,c B) ¢,ab
(C} 1):9 a,c (D) b, c,a

|
|
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20. Consider the following statements :

21.

(C) wrena)

‘The immediate cause of the Sepoy Mutiny

of 1857 was :

1.  Transferring control of East India
Company.

2.  Britishers’ exploitation of Indians.

3.. Inequality between Indian and
British soldiers.

4.  The greased cartridges. supplied to
the soldiers for the New Bnfield
Rifles

(A) 1 and 2 are correct.

(B) 2,3 and 4 are correct.

(C) Only 4 is correct.

(D) None of these

fown gl we farmme st

ISS?*W%W?W&’E
FR T —

1. w' e ww S feEw o w

BT

2. e g W w5 S

3. YRdE w s @ ¥ oue

4. T EERS sl & R At
RIger HIE! Y Sl

(A) 192@8 %

(B) 2,33sThid

(C) FaA4THE | e

©) FEIFETH

The Muslim League was initiaily floated
in in 1906, :
(A) Burma ~ (B) Dhaka

(G Colombo = (D) Kathmandu
e < 1 yesma o 1906 § 7,
Tt e T T | |

(A) =af (B). k)
(D) rewig,
. 104D

22.

23.

By drawing inspiration from Brahmo
Samaj, the Veda Samaj was established
at___in____.

(A) Bangalore, 1964

- (B) Madras, 1864

(C) Kochi, 1974 :
(D) Vishakhapatnam, 1874
¥ QO ¥ Yom @Y, ¥ w9 &)

T ¥ o1 oft |
(A) #TER, 1964

(B) TE™, 1864

(C) wref, 1974

(D) fasmamag=w, 1874

Consider the following statements and

pick out the correct option from the

given codes : _

‘Rajtarangini’ is a book written by Kalhan.

1. Ananthology of lyrics.

2 A History of Kashmir.

3. Its about Chandragupta reign. _

4. Its about Loyalty of' King towards
State. _

Codes :

(A) Only ! and 2 are correct.

(B} Only2 is correct. .

(C) Only 1,2, 3 are correct.

(D) Only 4 is correct.

]

ﬁnmﬁmﬁwaﬁ@ﬁqwiﬁﬁ

A wlt Reren g

TRt SR g T O S 8 |
- T T EE

e 3w

T T H AR A

=g % i wen i et s s

;ﬂ.‘“!‘-‘!":‘"

Faer 1 @ 2HE §
(B) Hac2adid
(€ Haer1,2, 388 %1
(D) *aa4udiR]

>
S
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25.

B it vt Somaeres S i e e

24. INA prisoners of war were trialed at

(A) Tis Hazari Court, Delhi

(B) * Red Fort, Dethi

(C) Parliament, Delhi

(D} Govemnor General House, Dethi

18T, 1. & gGaTeal T HRERT Wl —
(A) de g sverer, fessht A
(B) el Reer, feeeht A

() wwe, feeehtd
(D) TR SRE g9, feeeht A
Select the incorrect pair _ﬁ'on'_l the
following :
forvr 3§ Trerd 3w 99 I
-Committee of Chairman /
- Constituent . ey
Assembly / FRET
T afafe |
(A) Drafting- — Dr. Rajendra
Committee /. Prasad /
ey gt . U9 THE
(B) Fundamental - }B.
Rights Sub- Kripalani / -
Committee / i1 @’JEF-“
Hiferes sifter
(C) Union — Jawaharlal
.Constitution _ Nehru /
. Committee/¥%  ATELAS 486
dfear wfufy
(D) Provincial - Vallabhbhai
' Constitution Patel /
‘Committee / TEATITE T2
w=d g '
affe



26, President’s Electoral College consists of

27,

28.

- (B) Femaemd

(A) 42™ Amendrnent

(A) Elected members of both-the houses
of Parliament and Elected members
of the Legislative Asscmbhes of the
states

(B) Members of Parhament and Vice
President

(C) 'Members of Loksabha only-
(D) Members of State Legislatures
only

Tt o fratem- mﬁmﬁa%

(A) EHG % M Tel % W §u Hee T
Ty feemrastt % 99 gu aee

(B) &% qee 3 u-argafi

(C) A ARREN % HEH

(D) had U9 Taere wvged! F geey

In Indian Constitution, Fundamental
Duties are inserted by

(B) 44" Amendment

(C) 77" Amendment

(D) 40% Amendment -
vty afera 8 e ey Trﬁ% T

(A) 428 SR g
(B) 443 weie= g
(C) 774 EMYA T moE
(D) sod¥muwgm o

Who among the following was the first !
Speaker of Lok Sabha?

(A) Sardar Hukum Singh
(B) Neelam Sanjiva Reddy
(C) G.V.Mavalankar
(D) Baliram Bhagat-

j 29.

30.

ﬁwﬁ%mmwmﬁqa ?
(A) HER g% e

() WA wrge | -
©) sfewmww

TN et et s vesmmits Tietires

Join Telegram Group "HaryanaJobs in"

Given below are two statements labeﬂed as
Assertion (A) and Reason (R). In the
context of the two statements, which of the
following is correct ?

Assertion (A) : The Indian Constitution
closely follows the British Parhamentary
model.

Reason (R) : In India, the Upper House

of the Parliament has judicial powers.
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is
_ not the correct explanation of (A).
(C) (A)is true, but (R) is false.

) D) (A)is false, but (R) is true.
12 Ru e 2 wwedl #Y e (A) s

wh () &9 & foftm frn . § 1 2N
aEei Hugd §, RE i AR a7
St (A) : iy gfu e w9 8

- Tafew dwd wisw w1 o F@ R4

T (R) : wﬁm%mﬂm%m

R =i Rt S )

(A) (A)E (R) IFi T € 3 (R), &)
fTf e |

B) (AW ® 7§, g ®),

OV E ik S

©) (A)F@E, TG (R) AR |

D) ()Y, TR T

Which of the following Article of Indian
. Constitution deals with Public Servwe

Commission ? .

(A) Article ~ 325 (B) - Article — 226
(C) Article~105 (D) Article ~315
AT mivue &1 e 0 ¥ w9 ow
HFESE W 1 ST R TR f 7
(A) ITRIT-325 (B) SADT—226
(C) T - 105 (D) HFRT - 315
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32,

- (C) -5100.5 fe.d. (D) A FETE
33.

34.

A) gam B LW
) wE (D) e Hul
Match the following :
ﬁﬁihbf §ﬂf%ﬁlﬁ:
Mining Area/ '
W Mineral /GRS I
- a Khetri / @a! 1. Iron Ore / 918 375
b. Bailadila / 2. Bauxite / SToFETE
‘¢. Balaghat/ 3. Copper / e
. SR |
d. Kalahandi/ 4. Manganese / Bttt
a b ¢ d
A 1 4 2 3
{B) 3 2 I 4
€ 3 1 4 2
® 4 1 2 3

 (C) Swachch Bharat Abhiyan

(®) U e wikee

- (C) Punjab

. 'Which of the followmg replaced the 35,

Planning Commission ?
(A) NITI Aayog - f
(B) National Health Authority

gr)r; None of these .

¥ g fpwy domn smam w firenfa
e 2 |

(A) Hifa s

(C) w@es WRd AHEH
() THIFETE

The total length of India’s coastline is
(A) 65003 kms. (B) 7516.6 kms.
(C) 5100.5kms. (D) None of these

FRAT T R-ITG R A TER | - |
(A) 6500.3 f.ft. (B) 7516.6 6.

Which Indian State is known as ‘Land

(A} Haryana
(B} U.P.

D) Iammu&Kﬁshmir
%aumﬁamiﬁ‘wﬁ’ﬁaﬁtﬁ L

ETH AR 7 o

36.

Which of the following rivers makes an

7
-f;) Narmada (B) Krishna
(C) Msghanadi (D) Godavari
i PR T e E 7
(A) T (B
(C) wEFE D)

The gradual and fairly predxctabie
changes in the species composition of a
given area is called

(A) . Ecological biodiversity

(B) Species richness

(C)} Ecological succession

- (D) None of these

- of Five Rivers’ ? _ 37.

38.

R, S ——

Eﬁ?ﬁqwéﬁ%mﬁumﬁmaﬂt

(C) wikRRuferht g '_

Tides occur in the cceans and seas due
to which among the following ?

1.  Gravitational force of the Sun

2.  Gravitational force of the Moon

3. Centrifugal force of the Earth

Select the correct answer using the code
given below. -

fror 1 Y e w0 IR W TEEER A
T~ STET 3 & 7 :

R | T
9 feu e 5E % FUR R Hét sﬁﬁgﬁ
A 1,2,3 (@B 2.3
© 1 onlyf'aa-cl_ﬂ 1(D) 1,3
Pick out the wrong pair :
TR I
(A) Kanha National Park/ — M.P./
| H1g U ITA LOR N
(B) Dachigam Sanctuary/ — J &K/
- el anEmRe .z,
(C) Kaziranga National ~ ~ Assam/

Park/ HSICT UBRSTH  3FH

(D) Mudumalai Sanctuary / — AP/

FggRwm . Ot
A



39.

40.

41.

42.

43.

44.

45.

Wﬁmﬁﬂﬁmmmwﬁi?
(A). e, sy, ¥

(B) &M, &1, AP

(C) HERUTRR, F, e

(D) - g, fiep, wyw
o 1 T TR 3 R o o 7
(A) =1 %W ferg IFT

- (B) i wEr

©) wFETEFT
(D) m%mﬁmyﬁmh

e -qua 318 Teer T =6 Jeror B 7 _
(A) FHYRE @HH (B) ARYeS TA
©) HWW (D) &EanE

ﬁmﬁmﬁf&a‘mgmé?
(a) folm-fdm (B) A - Frore
(C) WAT—-¥& (D) wIW-yafg

for sttt % fon, e g wvefer T R 2
(A) %) AT G I — g

(B) Tohelt g w1 <fherr e — =ity
(C) T F IR Wis @ T -~ Sov

(D) fEe-Reams fres amen - daaer

Foer 3 @ fovmr e o - Torede wd olf R ¢
(A) WUEHH = |+ J9HEX

(B) W = + W

(C) s =g + s

D) TR=R+%3 |
e R A AR W e ge
awmir

(A) defd=amand)

- (B) H R am ol wa |

(C) H St g R |
(D) Tl wERR |

i

46.

47.

49,
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N O g

auT T (1) R e} 7
(A) Yre@R, sulien

(B) gﬂnzﬁlﬁ agsrmm

(©) WE T ko
(D) FRR, TR

fom e 3 wg-gm = we-d W

Wi gy

X -

(A) Fot-wa = wenaT-sderwi
 (B) 3®-3h '

= -{g_-qg
= m_m
= g@-fFeam

(€) TRr-Trft
(D) -3

Forerfefige wedf o ferme g

1. w20 R
3. Tesw 4 wgww
fra et it v yg ¥ 7

A 23,4 (B 3.4

© 124  © 1,23

Fa fresg ® il wiomRs = &
Ty A TRy et 2 ¢

(A) Custodian ~  fiegw
(B) Promotion ~ gEE
(C) Contravention -~ &g

(D) Authentication - TqERTT

v e 3 Vocation” T8 1 WNFY

o mhoRs T w2 7
(A) i (B) =FEW™
(€) wa@eR (D) iy
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Read the passage and answer the
questions (51 —55) ¢
Comprehension

The rivers of India play an important
role in the lives of the Indians. They provide
potable =~ water, cheap transportation,
electricity, and the livelihood for a large
number of people all over the country. This
easily explains why nearly all the major cities
of India are located by the banks of rivers,
The rivers also have an important role in
Hindu Religion and are considered holy by
all Hindus in the country.

Seven major rivers along with their
numerous tributaries make up the river
system of India. The largest basin system of
the rivers pours their waters into the Bay of
Bengal; however, some of the rivers whose
courses take them through the western part of
the country and towards the east of the state
of Himachal Pradesh empty into the Arabian
Sea. Parts of Ladakh; northern parts of the
Aravalli range and the arid parts. of the Thar
Desert have inland drainage.

All major rivers of India originate
from oné of the following main watersheds :

1.  Aravalli range
2. Himalaya and Karakoram ranges
3.  Sahyadri or Westem Ghats in westem India
4.  Vindhya and Satpura ranges
Himalayan glaciers in the - Indian
subcontinent are broadly divided into the three
river basins, namely the Indus, Ganga and
Brahmaputra. The Indus basin has the largest
number of glaciers {3500), whereas the Ganga
and Brahmaputra basins contain about 1000
and 660 glaciers, respectively. Ganga is the
largest river system in India. However these
rivers are just three among many. Other
examples are Narmada, Tapi, and Godavati.
51, According to the passage, the major
rivers in India _

(A) Pour only into Bay of Bengal

(B) Pour only into Arabian Sea

(C) Pour either info Bay of Bengal or

Arabian Sea or have inland drainage

(D) Pour either into Bay of Bengal or

Arabian Sea

104D.
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52.

53,

4.

How many glaciers are there in each of

the river basins in India ?

(A) Brahmaputra, Ganga, Indus -
1000, 660, 3500 respectively

(B) Indus, Brahmaputra, Ganga -
1000, 660, 3500 respectively

(C) Ganga, Indus, Brahmaputra -
1000, 660, 3500 respectively

(D) Ganga, Brahmaputra, Indus -
1000, 660, 3500 respectively

Accordmg to the passage the rivers in
India play a pivotal role because:

(i) They provide potable water.

(ii) They are important only to the
Hindus.

(iti) They provide cheap transportatwn
& electricity.

(iv) They are located near all major
cities in India.

(v) They are means to earn livelihood
for a large number of people.
Choose the correct options :
(A) @), (D), (i), (iv), (v)

(B) (i), (i), (V)
(€) (). (iid), (i), (iv)
(D)} None of these

m
.

All the major Indian rivers originate

from the following watersheds :

(A) Himalaya, Karekoram, Aravalli,
Western Ghats, Sahyadri, Vindhya

(B) Xarakoram, Aravalli, Himalaya,
Hindu Kush, Vindhya, Safpura,
Sahyadri .

(C) Himalaya, Karakoram, Aravalli,
Nanga Parbat, Vindhya, Satpura,
‘Western Ghats _

(D) Aravalli, Himalaya, Karakoram,
Sahyadri, Vindhya, Satpura
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59.

Which of the followings include all rivers

are mentioned in the entire passage 7

(A) Ganga, Bay of Bengal, Indus,
Narmada, Tapi, Godavari

(B) Tapi, Ganga, Bay of Bengal,
Indus, Arabian Sea, Godavari

(C) Brahmaputra, Indus, Ganga,
Narmada, Tapi, Godavari

(D) Narmada, Tapi, Godavari

Which part of the sentence has an error ?

I live on a top floor of an old house.
When the wind blows, all the windows
rattle. | |

(A) Iliveon atop floor

(B) of anold house.

(C) When the wind blows

(D) all the windows rattle

Which part of the sentence has an error ?
With a total of 45 matches, the T20 World
Cup will composition of two rounds.

(A) With a total of 45 matches,

(B) the T20 Werld Cup

(C) will composition of two rounds.
(D) Noerror '

Give synonym of
EMBEZZLE

(A) Remimnerate
(B) Clear

(C) Balance

(D) Misappropriate

Give antonym of
Grumpy '
(A) good natured (B)

_ obstingte
(C) ill-tempered (D)

amiable
Give meaning of idiom -
At one’s wit’s end

(A) Perplexed (B)
(C) Explain (D)

Clear up
Enlighten

[aary
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| 61.

|

62.

N
b

N (A) Accuracy (B)

Once you load the suitable program and
provide required data, computer does

not need human intervention. This

feature is known as

Reliabitity
(C) Versatility (D) Automatic
e UH SR HU I9YF AW AR wwd
ST YA/ HU A §, W HE HY A

BB Y sTavawar &l S | T7 waor

FHEAT

(A) g
(¢ dfaH

(B Femafafrd
(D) Fedfw

Information stored in dynaniic RAM
need to be

(A) checked

(B) modified

(C) refreshed periodically
(D) None of these

TR RAM ¥ vt gemal #t
FAAERR |

(A) SRR

(B) uiiad+

(C) Twaftm e

(D) FHAHETH

Which of the following is not a version
of Windows Operating System ?

{A). Windows XP

(B) Windows Vista

(©) Windows 9

(D) Windows 10 .
faiddsmaes ﬁ?:c?lﬁ THTEH GF W1
T (FUR) TE R 7

(A) REmxp

(B) e e

(C) 9

(D) fa=wt10

104D
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66.

67.

Which one of the followmg input dev1ce
is user-programmable ?

(A) Dumb terminal

(B) - Smart terminal

(C) VDT -

(D) Intelligent terminal

frm § @ o W wge g -
WuEEA g ?
(A) == efiae
© A

(B) wizﬁw
(D) Pz 2t

A computer program -that converts -an
entire program into machine language at
one time is called a/an

(A) Interpreter - (B) Simulator-
(Cy Compiler (D) Commander

U FER WM A TF QAW W

& i @ i wﬁqﬁaﬁam?ﬂ%

HEAT 3 TH
(a) ©OR (B Rmax
(D) TR

© mﬁ'{

Plotter accuracy is measured in terms of
repeatability and

(A) Buffer size

(B) Resolution

(C) Vertical dimensions

(D) {nteillgence

X # AR ol
FE daar A &

(A) TR (B) ﬂ?ﬁ?ﬂ?ﬁ.

(C) wwhramm (D) R

Windows 95, Windows 98 and
Windows NT are known as what ?

(A) Domain names

{B) Modems

{C) Processor .

(D) Operating systems

R 95, fmera 98 3k fiest NT ®Y

RFusg R IAIATTR 7
(A) SFAW (B) wiEw
(€) MW (D) arTwfen fevem

- 104D

68.

69.

70.

71.

72

11

(C) TSHEE

Which of the following is not essential
component to perform a mail merge
operation 7

(A) Data Source (B) Merge fields
(C) Word fields (D) Main document
A WS were @ i s % R
o= 3§ B W w vew e T R 7

(A) STE" (B) W $irew

(D) T SR

An Excel Workbook is a collection of
(Ay Charts

(B) Worksheets

(Cy Charts and Worksheets

(D) None of these

T TR el Wﬁ*w%l

(A) =RE

(B) whHfe -

(C) =iy ud aehied
D) THawEa B

Which of the following shorteut-key is
used to start a presentation from the
beginning in PowerPoint ?

qrea-|rE § = 3 ¥ i o wese Sl

SR29 Y IR W Y& F ¥ ToHg 3w
HRNAHE 7 |

(A) F6 (B) Fl

(C) FS (D) F3

Which one. of the following would not be

considered as a form of secondary storage ?

(A) Harddisk (B) RAM

(C) Floppy disk (D) Optical disk
i 4 § 0 Yol B9 5 ™ ==

3 o TR T T R 7

A) W B W

© wfem (D) few e
Which among the following is the
largest unit of storage ?

(A) Kilobyte (B) Gigabyte -
(C) Megabyte (D)} Terabyte
e 8w A LR i asd T T R ?
(a) foeleme (B) g
(©) wmme (D) AR
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74.

75.

() Fren arRAm S
() TEAIBETE

(A) EEHIEE

Word processing, spreadsheet and
photo-editing are examples of
(A) Platform Software

- (B) Application Software -

{C) System Software
(D) None of these
= iRfdn, Seie s vl

Jerz § -

- (A) ﬁzﬁ#ﬁmﬁm%

(B) UhhvE Wiwdwmy

QWERTY is used with reference to

(A} Monitor  (B) Mouse

(C) Keyboard (D) Printer
QWERTY % wevl & 3w fem

S &

(A) TR (B) TS|
© #=E @) B

A coliection of programs that supports a
computer's basic functions such as
scheduling tasks and controlling
peripherals is called :

(A) Compiler

(B) Interpreter

(C) Operating System
{D) Network

ST 1 T 9 T HIE F
vl S i e Srggfin si Yirea
 Feizro 3 werren e &/ FEemr &
®) demm

(C). FRETRER (D) Y%
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7

(C) &@a:ﬁq.

78.

19,

In the following letter series, some of _

the letters are missing which are given
in that order as one of the alternatives
below it. Choose the correct alternative.

Frfafee s oot 3 32 s 9= &
T 3% 1 Ry Freed] 7 & et v

ﬁaﬁmﬁ&mw%m@ﬁmw_

T HINT | __
ambca_bcab_cambc

(A) abca (B) aaba
(C) bach (D) baba

From the pairs of words, you have to

- select the pair which is related in the same

way as the words of the ﬁrst pair. -
Hammer : Nail :

(A) Carpenter : Bulidmg

{B)  Scooter : Bike

(C) Pencil : Pen

(D) Saw: Wood

RSy s e gmE

FA B R T IGW T % v A §
W F9 Y detea E

FC I BRI B
(A) ¢ e

(B) . WEF
(D) A : g

Choose the -group of letters Wthh is
different from others,

NG S IK WE R I B A I G
fo=r g | -
(A) NOQ
(C). FGI (D)

B) TVW
EFH

- Which letter will be 15% to the left of 5%

letter from the right end in English
alphabetical series ?

SH oo sjen H et SRR 53 R
1t S LS R B wmEm 7
(A) L ® G .
{€) F o) 1
104D

=) e

Direction : Read the givén passage and
answer the questions (80 te 82) that folows

based on passage : _
' The caffeine in one morning’s coffee or

tea may improve the complex reasoning
ability of extroverts but has the opposite effect
on introverts. More than 700 people were

given caffeine equal to no more than three -
cups of coffee and then tested on word

analogies, sentence  completion, and

identification of antonyms. The researchers
believe that the caffeine was beneficial to the

extroverts in the morning because they take
longer to wake up. Introverts are more alert in
the morning and become overstimulated by
the drug which interferes with their reasoning
power.

v - ﬁ?ﬂﬁﬂﬂﬁaaﬁn&qaﬁtmm

FHTYTE Tl (80 - 82) % I AT -

gaE ) =@ W w6 Fhe, s
i Fiee e g § dvea: 9f Woawar g,
vt A fEet gt Rradls v w2 1 700 @
ot warer Wil Y f Hu HTE F T W
FHA Q1 3w F fuleds v v,

A QO O WeE geIeTEl W W@ R

Wyehalalt @1 ama & 5w i afadhe
% fou Fbm e § wiifs 3 333 (Id)
1G] ERY ¥ § § ST WA Wi S A #
aﬁign%uwa@aﬁmﬁﬁﬁﬁaﬁﬁaﬁw
o v d o e R |

80. . Caficine has greater effect early in the
morning. :
(A) Definitely true
(B} Probably false
(C) Probably true
(D) Data inadequate

R

Serh1e 3§ HEH 5T i e T R |
(A) PR (B ovwgw Tom
() swaa g (D) 'é.?rra;qzrica

104D
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81.

82.

83,

84.

Extroverts do not caffeine
beneficial in the evening.

(A) Probably true

find

.' (B} - Definitely false

(C)- Definitely true
(D)) Data inadequate

w%ﬁ@mwﬁ%ﬁw%mw?ﬁ
TaE -
A) wEd: gd
(C) WiEaud

(B) TifFaanaq
(D) <2 ST

'Caffcine - affects reasoning ability of
‘people who drink tea or coffee.

(A) Data inadequate

(B) Definitely false

(C) Definitely true

{DD) Probably true _

N A wE 9 B 9 8, $ER e

i g ) vl e 2
(A) Ty (B) PifYwd wew
(O FRaaed (D) ovam wd

. Ankit is related to Binny and Chinky.

Daizy is Chinky’s mother. Also, Daizy
is Binny’s sister and Aruna is Binny’s
sister. How is Chinky related to Aruna ?
(A) Aumt (B) Sister

(C)y Cousin {D) Niece \
sfra, B ot i @ defm & 1 &R,
Ty 36t uf 2 | arwon, foh Fy wgv £ otk

. @Eﬁiﬁﬁ“‘ﬁ'?ﬁ’ﬂm%?ﬁfﬁ emrﬁ

Tore yerm Hefira & 7
(A) i (B) W&~
(€) whm (D)

If ‘BEAT" is coded as ‘EHDW’, how
will you code ‘ROAD’ ? '
afe ‘BEAT # ‘EHDW’ gfa frar

M, @ am ‘ROAD*aﬁmmaﬁﬁa

MY
(A) TQOF- (B) URDG
(€} URBG (D) SQOF



. 35_'_

87.

Join Telegram Group ffHaryanaJobs.in"

Parimal walks 40 metres towards east.

He then turns left and walks 20 metres.
He again turns left and walks 40 metres.

How far is he from his starting point ?
(A) 20 metres (B) 40 metres
{C) 60metres = (D) 30 metres

afore 40 et g # 3 T ¥ | AR s
arff 3R e 20 et T & | TE T
Rl ¥R TEaR 40 Hiex To } | 9% I

yourrdh g & R gl wed
(A) 20HIR (B) 40
(€) 609X (D) 307

A,B,C, O, E, F and G are sitting around a
circular table facing the centre. C is next to

the left of F and G is second to the left of |

C. A is sitting third to the left of E. B is
between O and E. :

_ What is the position of O ‘?
" (A) Osits between G and B.

(B) O is to the immediate left of B.
(¢) O isto immediate right of G.

- (D) O sits between A and C.

A,B,C, O, E, F 3 G ¥z H 3 q@

M O & Al s A E I FF A

s CEMMCHTII@WaGRIES

YN EARAIIIOWES

7B |
omEERREME?
(A) GEBHTROITEI
(B) BHTEEROR %
(© GFFETIOR| -
(D) AWCHFIROAAT |

Mukesh is twenty-fifth from left and
Suresh is twenty-fourth from right in a

row of 40 students. If Dhiren is sitting in-
between them, what will be his position.

from left 7

40 oEl f w il ™ o
et of g g EAk
offy 3 2T S wey A §, @ w | IEE
T FET R 7 _

(A) 21 (B) 23

(C) 24 (D) 26

8s.

——————

5. Judgement / fofm

89,

90.

(C) AM
91,

Which one of the given responses would
be a meaningful order of the following
words 7

frer st 7 et Ry ST H D

FN 91 W 7
1.  Police/qfed

2. Punis'_hment/ quE
3. -.Cﬁmeim.

4. ‘Trial / GoEHT
(A) 3,1,2,54 (B) 1,2,4,53
{C) 53,421 (D) 3,1,4,52

Which letter will replace the question
mark (?) in the following circle ?

ﬁwqﬁﬁmmmwﬁ%(‘?)aﬁ. |
| xrfamham? S

A) H ®) T

< Vv Oy O

Supply the right letters for the Question
Mark (7) : o

e T (2) % Forg wedt v e 2
ZA,UF, Q2,10
(A) NM (8) PM
(D} QM

From the pairs of words, you have to
select the pair which is related in the same
way as the words of the first pair.

“Editor : Magazine : | ____:

{A) Chair: Table (B) Dlrector Film

(C) Poem: Story (D) Novel: Volume

Fodr e 36 ot & @ o 99 T
T HET B S WY T g o f
mm%mﬁm%i :

104D
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94.

(A} Brother (B) Father
. (€) Uncle (D) None of these
FRE i A RN sE
© Il Y, w8 A0 T eReld T
¥ 1 ot v ergis v TR WA § 7
CVIRS B) T
(©) . Ipe (D) T 4 oI

95.

" STERATR 7 .
(A) SPSET - (B) SPEST
(C) SEPTS (D) SPETS

926.

164D

Choose the odd one from the given
alternatives.

fee e Ferepeat 7 2 fop ot 3 4
(A) 4-8 (B) 8-16
€) 6-12 D) 9-20

97.

Which letter will be 14™ to the left of |

10" letter from the right end in English
alphabetical series ?

3R ol Avh # g BR A 108 IR Y
TRt ST 1457 SRR FH AT ?

(A Z ®B C

) X D) A

Pointing to a boy in a photograph Abir
says, “He is the son of my mother’s only
son”. How is Abir related to that boy ? .

K ‘CLOCK’ is written as ‘KCOLC’, how .
‘STEPS’ can be written in that code 7

% ‘CLOCK® %1 ‘KCOLC® R man 2,
@ 4 Fe § ‘STEPS’ =t v wanr Fov

Sheela walks 1 km to east and turns right g
and walks another I km and then turns |
left and walks 2 km and again turning to

98.

her left travels 5 km. How far is Sheela
from her starting point ?

Thew o Y 3 1 foe ), 5w & stk el
IR e | frfl. wordht & o R o
e 2 o6 o, et 8 o amow wrlf weew
5 fp.3f. T & | e o1 o Rig &
ot glimd ?

(A) Ikm/fEH. B 5km/fEA,
©) TkmfER. (D) 2km/Frf

B e e e b Ty p—

[
h

&
%

In a College, L and M were teaching
Biology and Physics. N and M were
teaching Physics and English. O and L .
were teaching Sanskxit and Biology. P and
M were teaching Geography and Spanish.

- L and M were teaching which subjects ? |

(A) Physics
(B) Biology and Physics
(C) Sanskrit
(D) Physics and Sanskrit

T s § L 3t M She-faam @
Wifema wgre & | N 3tk M o
T A TeR & 1 O 3k L wepd w
“a-fwm 9gr @ 1 P 3t M it 3l

.ﬁﬁwmﬁl

Laﬂtmaﬁq%ﬁwwﬂ% 7

(A) viftesme

B) Gﬁa—ﬁmﬂ‘q’ﬁﬁlwrﬁ
(C) T

(D) sfewarervs dpa |
If ‘water’ is called ‘food’, ‘food’ is
called ‘trec’, ‘tree’ is called ‘sky’, ‘sky’ -
is called ‘wall’, on which of the

following grows a fruit 7 -
(A) Water .~ (B) Food
(C) Tree {ID) None of these

afg ‘T B TR FE IR, GE R
g’ g I B, Vg W CAEW wa@

SR, S W AR w2, 9

At e ea IR E 7
(A) wFt (B) @
() I (D) FEABETE

Which one of the given responses would
be a meamngful order of the following
words 7 -

__ﬁnmﬁwaﬁqgfmﬁqwaﬂﬁﬁﬁ |
BN EHTCH R 7 | |
1. Village/Tf& 2.  Nation Ry
3. District/R@T 4. Taluk / aRFH

5. State/T™9 '

(A) 1,4,2,3,5 (B) 1,3,2,4,5
(C) ]’4’3’5’2 (D) 1,233’4?5



100. Select an appropriate number to repiace
the question mark (7).

wed T (7) %) wfeunfya w@ % g o
UG HEHT T | '
15 18 21
90 (105 ] [108 {126 |7 | 147
(A) 118 (B) 162
(C) 186 (D) 126
(’74—7+7’)-:~7= ‘
01 T isises
A) 1 (B) %
16 3
© o D) 1

102. Find the average of the cubes of first
five natural numbers.

wuq gl O HEH] % ‘a:ﬁ &1 3t
T T, |

(A) 35 (B) 45

(C) 65 (D) 55

103, A lady has 25p and 50p coins in her bag.
She has a total of 120 coins amounting
to ¥ 50. What is the ratio of the number
of 25p and 50p coins ?

qf%m%énﬁzspaﬂtsop%ﬁm%

%1@%%1201’@3&%&?@@{5{)
2 | 25p 3t S0p & Torwwi # wEw @&

Join Telegram Group

|105 If A’s income is 25% more than B’s
income, then by how much percent is
B’s income less than A's income 7

Iy A ) 3 B H I H 25% HRT ,

@ Bt a9 A d o3 ¥ Fran srf%naa
HH ?

(A) 25% (B) 15%

C) 20% (D) 30%

106. Deepak invested an amount of ¥ 21,250
for 6 years. At what rate of simple
interest will he obtain the total amount
of ¥ 26,350 at the end of 6 years ? -
Bve 3 221,250 Y v T & 6 w6 % for

= G & T TR 26,350 7 I 2
(A) 4%p.a. /9
(B) 7% p.a. /¥ s
(C) 9% p.a /ufEd
(D) None of these / FTH & 1§ T8

107, The compound interest on ¥ 2,000 for 3
years is T 315.25. The rate of interest is :
g 2,000 W 3 a8 T

T31525 1w AL R
A ™% (B) 8%
0 5% . 0 (D) %
108. If 10 spiders can catch 10 flies in 10
min, then how many flies''can 200
spiders catch in 20 min ?

EE

A TR 7 -
(A) 2:3 (B) 1:4
€ 1:2 Dy 1:3

104. If the volumes of two cones are in the

‘ratio of 1 : 4 and their diameters are in
the ratio of 4 : 5, then the ratio of their
heights is :

212 & Wigpall 7 IR 1: 4 % g §
Td 3R] ST 4 : § % AU W &, o ITH
SmddanuaR:

(A 5:4

(B) 4:5

() 6:9

(D) None of these / Eﬁﬁﬁ’gﬂﬁ

TR 10 welat 10 B F 10 FEE =
; e o &, @ 200 mHRAT 20 fr ®

R iRt T A € ?
(A) 700 (B) 400
{C) 600 (D) 800

109. A shopkeeper by selling 44 calcu}ators
eams a profit equal to the selling price of
11 calculators. His profit percentage is :

TH GEMGR 44 i see 11

1o e & | SO o WA
(B) 25.33%

A) 33.33%
(&) A (D) 4033%

(C) 30.33%

i
% Ferporet & ok qeg & T R AN
|
|
I

104D

(A} 21,524 (B) %1,680
. () 21.580 (D) T1.623
111, 0.5%05+05<5=2 -
(A) 045 (B) - 0.35
©) 0.15 (D) 0.25

Frim R | 6 ot weEm, 97 fRE W

"HaryanaJobs.in"

118. The profit earned after selling an article
for T 1,754 is the same as loss incurred
after selling the article for ¥ 1,492, What
is the cost price of the article ?

T ag B T 1,754 § &9 & wg ol
o, 9 B T 1,492 T A AR AR F
W%ia@wmq@w%?'

112. The breadth of a rectangular field is 60%
of its length. If the perimeter of the fi eld
is 800 m, what is the area of the field ?

U FEASR &3 Y =Serd o o
& 60% & ) =fe & =1 ulars 800 m. 8,
T T AR FTE 7
(A) 10750sq.m (B) 37500sq.m
(C) 58000m? (D) 38000 m?
113, One litre of water is added to § litres of

a 20% solution of alcohol in water. The
strength of alcoho) is now :

T T GERIE. F 20% et F qfy e i
wh ®iet ol fife fen T | o
TEhIEa % AT -

(A) 12.5% (B) 16%

(C) 1666% (D) 24%
114. How much percent is 20 paise of T 5 ?
20 %8, T 51 R aRwa € ¢
(A) 0.12% (B) 0.4%
) 0.8% D) 4% |
115. 4 men and 6 women finish a job in &
days, while 3 men and 7 women finish it

“in 10 days. 10 women working together
will finish itin ;

43@@6#%?&8&?*:@“@@

116. The average of 5 consecutive even
numbers A, B, C, D and E is 52. What is
the product of B and E ?

5 FFHTTA 9 §@ATST A, B, C, D 3R E &
3@ 528 | B 31N E w1 oree e R
(A) 2800  (B) 3080
(C) 2980 (D) 2910

117. In a shower, 5 em of rain falls. The
volume of water that falls on 1.5
hectares of ground is :

@Wﬁs«:m'olﬁ@?ﬁ% | 15%3%?1’(
R R g -

(A) 850cum . (B). 750 cu.m

(©) 950cu.m (D) 1060 cu. m

Direcnons (Questlons 118 to 120) : Study the
following information carefully and answer .
the questions given below :

& (o7 118 & 120) ; ﬁr#érﬁgm{amﬁﬁ
wYEes U ud A1 Ry vt o 3

-Given an mput a machine generates pass

wW & wafe 3 7oy we 7 wfkend W 10
%ﬁ@wﬁ%nm_u&m&mm |
(A) 20days/ﬁ#?ﬁ(3) 30days/&=ﬁﬁl
©) 60days/ﬁ=ﬁﬁ(n) 40days/ﬁ=|’;ﬁ

‘codes for the six batches each day as follows :

we e foa mn R, wfifen o et s AT &

Tore T Sig 30 YRR e e 2

Input / F&g : these icons were taken

| out from the sea

Pass codes / I8 $IE ; ' \

Batch I/&=1 : from sea the out_taken
were icons these

Batch I1/&S 11 : from icons these were

' _ taken out the sea

Batch III /&9 I : from icons out sea the
taken were these

Batch IV/®FIV : from icons out sea these

o were taken the
and so on. '

First batch starts at 10.00 a.m, and each batch is
for one hour. There is a rest period of one hour
after the end of the fourth batch.

' 104D | 17 - - | A
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ﬁi?@ﬁmaﬁﬁ 121.

mﬁamoaammwm%aﬂtah@
B 1 BT # !ﬁﬁﬁa%m%mﬁﬁm

foma@me
118. What will be the pass code for the baich
at 3.00 p.m,, if input is ‘four of the
following five form a group® 7
- 3.00p.m. W%E%WHTHEF‘EW@TH
afe faw ‘four of the followmg five
form a group % 7
(A) afive followmg form four group the off -
(B) afive following form group the of foun
(C) a five following form four of the -
. group
(D) None of these / S B 13 &l

if the pass code for the batch at 1.00 p.m.
on a day was ‘back go here people who
settle want to’, what was the pass code
for the batch at 3.00 p.m. on that day 7
uft T 29 1,00 p.m. W A9 & fre om
FIS 9T ‘back go here people who settle
want to’, Tt 381 T&43.00 p.m. W o #1
A HIE FUT ?

(A) back go here people sefttle who want to
(B) back go here people settle to want

who
©)

119.

Cannof be determined / T T8I
T s Ew o
(D) None of these / ¥ & 3§ T&l

'f'_h_e pass code for the first batch on a }
day was ‘he so used to sell the surplus
items’. What was the input on that day ?

fedt 7 vom 3 &1 9" $18 9 ‘he so
used to sell the surplus items®, a1 30 T |

wERATET | ]
(A) he items surplus the sell to used so
(B) soused to sell the surplus items he
(C) Cannot be determined / TG & .

|
i
!
. FrmrSrEw | |
(D) Noneofthcse/ﬁﬁﬁﬁﬁﬁ %
8

A . o _ ]

120.

U TR

123.

122.

What was Kharda in Rajasthan during

British period ?

(A) The money to be collected from the
people of the village for food for.
the army of the state when a halt is’
opened near a village.

* {B) To be charged two rupees per housc

for the eonstructxon and repair of

citadel.
(C) The cost to be coilected from the

working castes.

{D} None of these

%ﬁﬂm%a"ﬁqmﬁww a7

(A) Ta 6 &0 I forelt i % v agE

- gredt, @ 9Ee WA W foe afa %
At dwgE R aH e e |
(B) T ¥ Frain 7 wong ¥g Q@ TO€ AR
WY T IR G 3
(C) st il & sl o areft o |
(D) F5 4 1 =l

‘Ghagghar Ka Maidan’ is situated at —

(A} In the districts of Jhunjhunu & Sikar

(B) In the districts of Jalor & Sirohi

(C) In the district of Ganganagar &
- Hanumangath = -

(D) In the d;stncts of Jaisalmer &
Barmer :

o o1 froe foa @

(A) gL He fredi A

(B) Freir o el fored o

(C) T 3 g foredl

(D) Jwerin 3 g et o

In Bheel tribes of Rajasthan, v1llage
head is called

(A) Palvi (B) Pal
(C) Phala D) Gameti . '
T 1 i R § i o gReE
HEAT | :
(A) e (B) T

(D) Wt

(C) wEH
| 104D

124,

125.

126.

127.

When was Karauli district formed in
‘Rajasthan ?
e H B T BT 7

(A) 07.09.95 (B) 19.07.97

(C) 17.09.98 > Nope of these / §
| | w8 i 7l

‘Who was the first ruler of Rathore dynasty ?

(A) Rao Ranmal (B) Mokal

{C) Rao Jodha (D) Rao Chuda
TSR TSR T W P 7
(A) T& WM (B) HFA

(C) uarsfnn (D) T g

Who was the first Chief Justice of
‘Rajasthan High Court” 7-

(A) KK. Verma (B) D.S. Dave

(C) SarjuPrasad (D) None of these
TRY TA AEEE % Tad e
v aag 7 -

(A) *.%. aui (B) fhwy. g
© TIFR (D) FHARE T
Match the following
Granth (Books)/ - Writer / &%
E:L B :
a. Prithvi Raj - 1. Vijaydan Detha
Raso/ / e S
Fic LA
b. Vir Vinod / — 2.Chandbardai /
- dnfEr T
¢. Batan-Ri-~ - - 3.Shyamaldas/ .
. Phulwari / VA
- w el
Codes /< :
_ a b ¢
A3 1 2
B2 3 1
©1 2 3
™21 3

104D
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128,

129.

were the leaders of the revolt of

1857 in Kota State of Rajasthan.

(A) Lala Hardayal and Mahavat Khan

(B) Khushal Singh and Ram Singh

(C) Laila Jaidayal and Mehrab Khan

(D) Pt. Naynuram Sharma and Vijay
Smgl Pathik

2 T8 § 1857 ¥ fage =

g A

(A) mmmnﬁm@‘?
(B) GIATNE 9 GufkE

(C) T SR oy NEE G

(D) . g i e P s

Which of the following is not a dance of

Kaibelia’s of Rajasthan ?
. (A) Shankaria  (B) Chari
(C) Panihari (D) Indoni.
o1 4 R 9 w1 e ToRYA % et
 HTTEE
(A) SiiaT (B) =ft %
(C) fwrd (D) sveiof

130.

Which of the follovwng pairs is incorrect ?
(A) Vashishtha ji Temple — Sirohi

(B) Laxminarayan Temple -- Alwar

(C) Samidheshwar Temple — Chittor

(D) Rama Vaxklmtlmath Temple — Pushkar
PSSR urym AEma 2 ?

© (A) afire o = wfer - frndt

(B) SR 6T — SreTaR

(C) aftrdvet e~ Rrelig

131.

(D) T Aoy At — TH

The correct chronological order of the

attacks of Alauddin on Rajasthan is

1. Jalor Attack
2. Chittor Attack

3. Ranthambhaur At,taék
HAAEH & THYW W HHAT &7 wdt

FHITHFA 8 _
1. e AHRT 2. f%h‘-ﬁsm |
3. Torgnd amEEer
Code /< :
B

gé; 3,2, 1

2.3, 1
1,2,3 31,

1
»2



132, The Prlme Minister of Matsya Union was
_ (A) Sawai Mansingh '

133.

Join Telegram Group

(B) Bhupal Singh

(C) Tikaram Paliwal -
(D) Shobharam Kumawat
Hee WY & AT €
(A) Fard AfE |
®) e i

(C) Erermem e
(D) SR FoTd

.Match List-1 (Wild-life Sanctuary) with
List-II (Place)} and choose the answer
from the given codes :

134.

- List -1 List -11
a. Desert National Park 1. Udaipur
b. Talchhapar 2. Bharatpur
¢. Phulwari Ki Nal 3. Jaisalmer
d. Bandh Baretha - 4, Churu

g1 (g-sha smvaRed) w1 gDl

() & gfe S T A9 R W
% ST T IR BT TG B 5
-1 w=-T

8, WEAE TR 1 3¢IR
. b, AEWBH 2. wEg
c"f{'ﬁa@ﬁw 3. SETt
d. 5 §RaT 4, &
Codes /%< : '
a b c d-
A2 3 1 4
®3 2 4 1
©3 4 1 2
™4 3 2 1

|
|

AR TR W sl I WA T w ki LA

[ ]
=

135,

Who was the first Chairperson of

- Rajasthan Public Service Commission ?

(A) S.C. Tripathi

(B) Sir S.X. Ghosh -

(C) D.S. Tiwari

(D) MM. Verma

eI WS A M sr?m area

TR

(A) w3, B
(B) Wuy. &, AY

(©) . Rt

(D) woam. Tl

Match the following :
et =) g -

Tourist Services

(e Aard)

Starting
Year
(3 )
a. Heritage On Wheels /~ ~ 1. 2004

B o7 =T
b. Royal Rajasthan On - 2. 2009
Wheels /
et Trermd A
=ied
c. Rbyal Orient Express
| Vo e T
d. Village On Wheels/
e otw =iew

~ 3. 1994-95

— 4. 2006

B oW o= O
W o B W oo

104D
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137,

138.

ﬁm%%qaﬁmgan?

©) IR

104D

(D) Tt & s T oy

'HaryanaJobs.in"

136.

Peepal Panna is

(A) Women’s ear ornament
(B) Women’s head ornament
(C) ‘Women’s neck ornament
(D) Women’s waist ornament

fiver u=rr 2

(B) Rt & R w1 aamyqron
(C) Tt % o %1 3mper

The saint who was invited to Fatehpur
Sikri by Mughal Emperor Akbar was

(A) Lal Dag (B) Jasnath.

(C) Rajjbaji (D) Dadu Dayal
TTE GHR FEE g R T % waER
Hredt smifm R mar ean, 9z o

(A) ¥ ¥ (B) SHI

(C) Tsmh (D) TZ A=

In 1932 Mev Peasant Movement of
Rajasthan started in whose leadership ?
(A) Pratap Singh
(B) Dr. Mohammad Hadi
(C) Alwar Maharaja Jaxsmgh

(D) Nong of these - _ ’

1932 % TSRUA %1 A5 Rrem FARew

(A) yamgftig

(B) . vigwe wét
(C) e wERTn Fufie

e Yr—— Somml . i

21

139. Match the following from List — I

140,

2. To

(Heritage) with List — II (Place) and
choose «the correct answer from the
given codes as under :

List-1
a. Jal Mahal
b. Ek Thamba Mahal 2. Bikaner
¢. Junagarh Fort -3, Jaipur

Tl — 1 (Frem) & @& - 1

(®m) F 9 e =t #h A Ry

FERTH IO
ogh-n

T -1
a. il AEA 1. St
b. GEgarmER 2. fiwrr
c. g frem - 3. S
Codeés /§2: -

List - I
1. Jodhpur

c

2 1
B3 1 .2
2 "3
™1 3 2

Consider the following statements about
the State Election Commission and

- make the right selection ;

I. Preparation of electoral rolls for the

elections of State Panchayats and
. Municipalities.

conduct the election
Panchayats and Municipalities.

3. The work of preparing and electing
electoral rolls submitted by the
Election Commission of India.

T Fatew smm ¥ o) § B wdiw

for

- Torew i we wdt Fvla w1 g it |

1. U9 %! 99@dl U6 TRUTAHa %
T % fore Prafee aeh & e

2. 9 O TRt % g g
T FYAT |

3. el fatem s g wege fatem
e 1 = 3R TR R |

(A) 2,3

B) 1,2,3

(C) None of ﬂaesc/"ﬁﬂﬁﬁﬂ-ﬁiﬂﬁ

©) 1,2



141.

142.

Which of the
instrument is played by people of Kamad
caste in Rajasthan ?

(A) Tandura (B) Surinda

(C) Gujari (D) None of these
i o it T S R 7

(A) a0 (B) giwal

©) T8 (D) TH a3 F

Consider the following statements about
Governor of any State :
1. Heis appomted by Chief Justlce of

India. .

2. They remain in office as per wishes
of President.

3. Executive powers of State are
“embedded within him.

4, Generally, they remain in office for
five years. -

it TS0 & oA (MER) & wEd

1. 3R vIa % g Ay Fge w@
%1

2. AR R T SRR R
3. 3 veu Ry i Rt Rl

4, qFG: 3 wie T R g wE |

Choose the correct statements.

<t el 1 == Il |
Codes / 9< ¢ _

A) 1,2,3 (B) 1,2,4
- (€) 2,3, 4 (D) 1,2

following musical -
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143 What is pachevada with reference to
Rajasthan ?

(A) Jut paiti

(B) Mud toys

(C) Thick cotton shawl

(D) Hand made paper

TR F Ea%‘f # ‘Fﬁa (pachevada) 1
g7

(A) =

(B) =i firgh & gty
(C) A wie

(D) & Tafifa %

144. The term of Lokayukta in Rajasthan is :
_ (A) 5 years or age of 66 years,
whichever is ecarlier.
(B) 5 years Or age of 60 years
whichever is earlier.
(C) 5 years or age of 62 yeats,
whichever is eatlier.

(D) 5 years or age of 65 years,
‘whichever is earlier.

WﬁWmW-m%:
A) 581 66 o H 3y, A TEAH |
©(B) 5 60 T I, SR wEA R |
© 5 adur 62 8 Y a1y, I N ER D |
(D) 5T 65 7§ Y, N A AR |

i 145. Lalya-Kalya Fair is organized in

(A) Bharatpur (B) Jaipur
(C) Bhilwara (D) Ajmer
ATe-sred Yo A grar
(a) vaRd - (B) EEH
!_ ©) Weamd (D) I
2. - 104D

" 147. Which of the following pair has taken

146. Which of the following pairs is correct ?
faddsmoym el

Institution / T Establish-

| ment/&qTg!
(A) Jaipur Katthak - 1982
Kendra / JIR #esh '
(B) Rajasthan Hindi -
“Granth Academy /
e i Ty
T |
(C) Rajasthan Lalit Kala —
Academy / TS
wfera whon Jrepred
(D) Rajasthan Sanskrit —
Academy / TRTRYT

1980

1957

1969

oath maximum times as a Chlef Mmlster
of Rajathan ? )

(A) Haridev Joshi and Bhairon Slngh
Shekhavat '

(B) Bhairon Smgh Shekhavat and
Hiralal Devpura

(C) Shiv Charan Mathur and Haridev
Joshi

148. Who among the following was not a
Chairman of Rajasthan State Humen
Rights Commission 7

(A) Justice N.K. Jain

(B) Justice S. Sageer Ahmed

{C) Justice Kanta Bhatnagar

(D} Justice Premchand Jain

7 ¥ 4 B ToRwE T wmar&m;r{
TN % T Jeaw T Y 7

A) IW"Lﬁ W.F.

(B) =afd wa. win arewe
(C) =rmfd wiar seav
(D) = Srew 3

149, In Rajasthan, ‘Satudi Teej’ festival is
celebrated on

(A) Kartik Knshna Trltlya

(B) Kartik Shukia Panchami

(C) Bhadrapad Shukla Panchmi

(D) Bhadrapad Krishna Tritiya

s § coarE i e =her wAra
Eluk

(A) Fifds w1 g =)

(B) iftfe yer vt ) %

(C) YIEUE yor erf

{D)} None of these

D) mquﬂmﬁ

: %H@ i % =g 3 By § @ g 150. Who appoints the Chief Information

l
w%aaf&mwmaﬂ% 7 #
(A) BET e o Wiftg S }
(®) &iifie e v doe g |

" © R e wd e et {
(D) wH & wrd T [

104D _ ' 23

Commissioner of the State 7
(A) Chief Secretary (B) Chief Minister
(C) President (D) Governor

T & 7o g g fgfs
HMRY

(A) gewfE () gennh

(©) Tl

(D) TsIu™A
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